1.
A food distributor carries 64 varieties of salad dressing.  Appleton Markets stocks 48 of these flavors.  Beacon Stores carries 32 of them.  The probability that a flavor will be carried by Appleton or Beacon is 15/16.  Find the probability a flavor is carried by both Appleton and Beacon.

2.
The time it takes to travel from home to the office is normally distributed with ( = 25 minutes and ( = 5 minutes.


a.
What is the probability the trip takes more than 20 minutes?


b.
What is the probability the trip takes less than 15 minutes?


c.
What is the probability the trip takes between 30 and 35 minutes?


d.
What is the probability the trip takes more than 40 minutes?

